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Adject \‘£Ji,f?!l~,,f’-!' :
M " I: +th noun clauses: |
| Noun Clauses

I)
« stand for?
/ noun clauses § | e
vfhﬂ‘ (i(;quscs pasical oceur as nouns, 0 they have functions similar t A%
\m":ld ;m‘un phrases. Noun clauses can take only four of the functions of nr; o
nouns a "
and nouns phrases. .

There are e es of nount clauses:

Wh- noun clauses

. That noun clauses ' .

These two types only differ 1n functions. Let us start with that-clause.

« That-clause: |

 the following four functions:

That-clauses can have one O
- The subject of a verb in another clause

Examples:
. Thatsheis homeless is not true.

. That she couldn’t cook annoys me.
s it can't be dropped. It can't be

Sometimes, wWe can drop "that" and sometime
ubject of 2 verb in another clause. 50

dropped when the noun clause functions as 2 §
when it is a subject, you can't drop "that”. When the clause is used as an object, it 8
optional to drop "that" or not.

So the second function is:

2 - An object

Example:

_ That Ali was actually afraid, | can't believe.

3 -The complement of a subject + verb to be

Example:

- The truth is that she is very h

elpful.
?ere, we can drop "that”, YRR
- In addition to a noun like " ion. i ion"

Hace ive skt o "M :t“l.lke fact, notion, idea, explanation

Example:

- The fact

act that the Allied troops occupied Iraq worries me. -l feelio?

@ That-clause can be
P ey ¢ followed by certain adjectives that express P°

Example:
3
AYDI@ 202
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- She's certain that nothing happens to the baby.

- I'm afraid that the house will catch fire.

@ One important use of that-clause is in reported speech. In this case, the use of
"that" is optional. . '

Student: can we drop "that" in the sentence "people are surprised that she will

pass the exam"?

[nstructor: no you can't.
% % %k

To sum up, the functions of that-clause:

- Subject

- Object

- Complement of subject -+ verb to be

- Object of statements as fact, truth, etc

- In reported speech

* Wh-clauses:

A wh-clause can have four of the functions of a noun phrase:

1- The subject of another clause

Example:

- What she said annoyed me.

2- The object of a verb in another clause

Example:

- No one knows what happened to her.

The main clause hers is "no one knows". The clause "what happened to her" is a
dependent clause.

3- A subject complement 2

The wh-clause can occur as a complement to a subject.

Example:

- _The question is what caused the problem.

Note: whenever we have a verb to be as a main verb, what follows this verb to be
is a complement to the subject.

4- The object of a preposition

You know that a noun phrase can function as an object to a preposition; it can be
expanded to a subordinate clause beginning with a wh- word. .

Example:

- Itdepends on what they really mean.

The clause "what they really mean" is an object to the proposition "on".

Note: the wh-clause can be governed by a preposition, while the that-clause

cannot. In other words, the wh-clause can occur as an object to a preposition, while
that-clause cannot. %3

Student: why do we call wh-clause an object of a verb and in another example we
called it a complement?

Instructor: in the sentence "no one knows what happened to her", the verb is
transitive so it needs an object. The verb to be doesn't need an object, so it needs a
complement to the subject.
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to semantics: agents and themes. Agen
- S to 0 baCk . . tS
¢ have sometlmjbj ccti)- Themes are the 91)_Jects or the entities affecte?: thog,
that do the z_lct_ton S L tis an object. W’f}cn it is an agent, it is a subjey Wh y}he
when it is 8 theme 1 = of a subject. it
kxR
Adjective Clauses

ve clause” 1 used interchangeably with the term "relative Clayges

¢ same functions. P
ative clause or an adjective clause?

The term “adjedi

y ’ h
-quse they have th
bCLWhal is the function of arel

: iV ifies a noun.
adjective modifies _
iﬁ ] d; octive clause modifies 3 noun, a noun phrase, or a noun clauge,

- The entity modified by the adjective clause is calle.d the-antecedem'

o Adjective clauses (relative clau{scs) usually begin with a relative Pronouy
Relative pronouns are. who, whom, which, whose, and that. :

There are two {ypes 0 relative clauses:

. Restrictive (defining) relative clauses

. Non-restrictive (non-defining) relative clauses
*kk

@ The relative clauses limit the scope of its antecedent.

Example:

. There is always place for people who can speak foreign languages.

Here, "people” is a very large group. The relative clause limited this group. This is
called a restrictive relative clause.

An example of a non-restrictive relative clause:

- The younger people, who have lost their faith, are now parents.

This is a non-restrictive (non-defining) relative clause.

@ The main difference between a restrictive and a non-restrictive relative clause
is that we can drop the non-restrictive.

Example of an exam question: (page 138) z

I might give you a sentence and in the options, I might put: SV, SVV, SVA,|

SV0O, and tell you to define what pattern of an independent clause thisis.

@ Non-defining relative clauses split the main clause.

# The antecedent of a relative clause can be a personal pronoun ora non-P‘ffs"““l
pronoun.

When we have a large clause that contains a smaller one (which is 2 depe"d'.mt
relative clause) and an independent clause, the relative clause in this case
function related to the verb of the independent clause.

The relativp clause beginning the main clause can be:
1- The subject of the clause

We use "who" to ask about the subject

Example: .

- Thatis the : . ; i ]

The entire claur:: g ‘.:]: hit me. =) That is the man who hit m* e i
1s the whole sentence (it is a complex sentence)- stk gont

independent clause is "that is the man". The clause "who hit me" is 2
o2

Sematics & Synatx 3.7+8 Last 4
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clause.
2- The object of a verb in a sentence
We use "whom" to ask about the object.
Example:
- This is the man. | saw him. =) This is the man whom | saw.
3- The object of a preposition
Example:
- That is the man. | spoke to him. =) That is the man to whom | spoke.
4- A possessive
Example:
. That is the man. His car crashed. =) That is the man whose car crashed.
Notice that the relative pronoun in examples 2 and 3 can be dropped:
. That is the man who | saw. =)} That is the man | saw.

- That is the man to whom | spoke. =)} That is the man | spoke to.
%k
There are some cases where we have two relative clauses in one complex
sentence. Sometimes they are nested (one of them hosts the other).
Example:
- This is the man that | know who can play the guitar.
In this example, we have two relative clauses. Here there is a relative clause

contains another relative clause.
There are other cases where the two relative clauses are not related.

Example:
- This is the fridge that | have been using for ten years and whose motor

was made in Japan.

In this example, the two relative clauses are not nested.
: kkRk¥

@ Adverbial clauses refer to place, time, or manner.

@ Usually, adverbial clauses have relative adverbs joining them with the
independent (main) clause.

Example:

- She woke up when she heard a strange noise. (This adverbial clause is an
adverb of time.)

Example: ;

- You may park your car where there is a parking sign. (This adverbial
clause is an adverb of place.) LA ;

@ For time, we use "when" and "whenever". The difference between

with the use of "when" we are specifying a specific time.
@ For place, we use "where" and "wherever".

Example: o
Rowaida writes as her father does. (This is

themis that

an adverbial clause of

manner.) :

AYDI© 2023
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—§ place, W can start with th.e adverbja| Claggy
tart with the adverb clause; we need t, s By :
weé can Lk Wlth u,le
A \
a strange noise.
oy hsg?;:gc noise, she got up to.
. Whe  car where there is a parking sign.
ark )(::'c i« a parking sign, you may park your car,
We can say- th‘_.c : her father does. ‘ .
- Rowa As her father does, Rowaida writes,

I ’?oqig(gg);ilm; we use also "until’, "till","and ".'s'ince".
- W1_tht:}1lcg\ gi}fercncc petween these and between when" and whenevyery
What 18 ‘

wWhen" indicates the exact moment of time an action takes place,
:,Ivntfl indicates the point of time when an action starts or the absence ¢

action ends.

Cyample: . i . P R T
-F\al'“Pbe waiting until you arrive. Until you arrive” indicates the pojp; o

time when the action of waiting will stop.
_ 1 will not leave until you give me what | want.
. "Since" indicates a specific duration in which an action has taken place.
. "Since" marks the duration in which an action started. This action might be
still ongoing or not.
Example:
- 1 have been living in Damascus since 2006.
- | have lived in Damascus since 2003. (I might not be living there
anymore)
"Till" and "until" are exactly the same but in formal speech I don't use "tll"
"While" can be replaced by "as".
Example:
- While | was walking, | tripped and fell.
- As|was walking, | tripped and fell.
Conditional clauses:

Other adverbial clauses j
adverbial clauses,

- She woX® un ghe heard 8

3 o are
nclude conditional clauses. So, conditional clauses

S_orgﬂlmmon clauses and reason clauses: Jauses

er S i e

G g;):s e;)l;r a;d;::b:jal c?t;ses are reason clauses and CO“:ip ar]:f;?)r of
‘ 0 uce n n i

adverbial clauses, y "than" and they are considerec 3

Example:

- Samer walks more quickly than | do.

@ Reason clau i
S€s start with "pec : on ©
because of", "due to", "since", etc. R¢4

Jaus®s
refer to logical relations

- Another klnd of 10 " spite OF,
"nevertheless", "Whereas'%l:?i relations is contradiction, like when I use ™"
23
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@ Cause and effect relations can include

" .

thus", "consequently”, "in addition to"

. s |
rfurthermore”, etc. 4

ok ook o ke

_ Summary
o We have two types of noun clauses:
- Wh-clauses
The main difference between them is that a wh-clause can be an object to a
preposition while that-clause cannot.
Both wh-clause and that-clause have four of the functions of noun phrases:
- Subject
- Object
- Complement
- Object of statements as fact, truth, etc.
The wh-clause can be an object of a preposition while the that-clause cannot,
o When can we drop "that" in noun clauses?
- When it is a subject, it cannot be dropped.
- When it is a complement, it can be dropped.
» Wh-clauses can be:
- Subject
- Object
- Subject complement
- Object of a preposition
L L 3

» With relative clauses, we have restrictive and non-restrictive. They modify a
noun or what substitutes a noun.

e How do we distinguish a defining (restrictive) relative clause from a non-
defining (non-restrictive) relative clause?

- The non-restrictive can be omitted without affecting the syntax and the
structure.

- Non-defining relative clauses are always separated by two commas.

* We said that relative clauses modify a noun or what substitutes a noun. This
noun is called an antecedent and has functions:
The subject of a clause
The object of a verb in a clause
The object of a preposition
A possessive
* Sometimes relative clauses can
Adverbial clauses
* We have adverbs of time, place, and manner

* Adverbials of time and place can occur at the beginning or at the end.
* Anadverbial clause manner clauses, it is not normally used at the beginning.

¢ For time and place, we have; when, whenever, where, wherever, until, till,
since, etc.

be nested in one another. .
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ave as, like, etc.

: ner we h ; I i
¢ For man Jverbial clauses is the conditional clause which y
ually Stag

o Another type of a
] "unless". SCr
e l\fV:) ;mvc also comparison and contradiction clauses.
L ‘ .
« We have reason clauses (cause and effect) where we use because, due ¢ i
) il 118 i ike: on the other han » Cle,
o (Contrast clauses usc expressions hli**** d, howevcr, though, e
" About the exam: LTy
- The questions won't be that complicated; I won't ask for example iffwo i
are nested or dependent on cach other. : Uses
- There will be some theoretical questions.
peill e s puad) Bisll e ) sy
- In theoretical questions, I might ask about the antecedent in a clause.
- Imight ask about the function of a noun phrase.
- I might give you a sentence and ask you to decide whether the underlineq js
theme, agent, location, etc.

- You will have a tree diagram which you should label.

Thank You

~ LECIURENO.8
~ THELASTIECIURE
28072023

HELLO EVERYONE!

Thxs section is strictly theoretical. It talks about objects, complements, obligatory
adverbials, subjects, etc.

Objects and complements Rt |
They appear in:

- SVO - SVC - SVOO - svoC

We can see that there are two types of objects and two types of complements- We
have a complement to the subject and a complement to the object. We have 2
object and an indirect object.

* What determines how many objects we need?
The verb does that.

; se. THe
We can conclude that the verb is the basic part of any independent clau. e

. . m
verb dictates what other parts of the clause should be or should not be aside fI2
subject.

a ree
On the other hand, the subject dictates person and number. The verb should
with its subject; the other elements of the clause are related to the verb- o two 7%

As for the object, there are two types of objects: direct and indirect:
strictly appear with di-transitive verbs in the pattern SVOO.

| 2023
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o What comes first, the direct object or the indi i

The indirect object comes first. g

. How can we distinguish between the direct object indi

g : and th i

The indirect object can be replaced by a prepositif)nal phras: PR

Example: '

He gave his mother a gift.

. He gave a gift to his mother. (T he gift is the direct object)

Now we move to complement§. Cpmplements are attributes to either the subject or
the object. They are usually adjectives and adverbials in contrast to objects and
subjects which are noun phrases or noun clauses.

The most 1mp0_rtant thmg is that the complement is either an attribute to the object
and in this case 1t 18 symbolized by CO, or to the subject and symbolized by CS.

Obligatory adverbials

We discussed earli.er three main types of adverbials: time, place, and manner. In
the book, they fuse time and place together. They refer to time as an extension of

space.
Obligatory adverbials can usually occur in different places in the sentence. They

either include adverbials of place or adverbials of time.
Adverl?ials can rtefer not only to the physical space and time but also to
metaphysical space and time. For example, "in his dreams" is a metaphysical place

and time.
e Adverbials o
what sentence pattern do they appear?
- SVA (subject, verb, adverb)
. SVOA (subject, verb, object,adverb) ... .
T T Theelements of aclause.
We talked about objects
and we talked a bit about adverb
objects, complements, adverbs. Each o
@ The characteristics of the subject:
- It should be a noun phrase or a noun clause
. It normally occurs before the verb in affirmative
- It occurs after the verb in interrogative (questions)
- Itis redundant (absent) in imperative because it is always "you"
- It determines the number and the person that the verb should follow

(agreement)
@ The characteristics of the object:
- It's typically a noun phrase (a noun phrase can be reduced to one word and

extended to a clause)
_ It normally follows the verb
. The indirect object comes before the direct object

- It generally occurs as @ corresponding object of a passive §
becomes the subject of the corresponding passive structure).

Examples:

f manner can also occur in different places in the sentence. In

and complements and how to distinguish between 'theu‘l;
jals. The elements of a clause are basically subjects,
ne of those has its own characteristics.

tructure (The object

AYDIO 2023
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WO_Y____:: there gre
Ircp]l:]t:‘l::\u [(11 ?vc, you, ete,), object pro
¢ Subjects with subject pronoung

: (lﬂmpl_emews i '

= They are typic

nouns (him, her, t}

. i len, ete.). -
-l_n(_i objects with o ). It is

bject pronouns,
i

ally noun phrases or adjective phrases

" are an i X

’ r‘b it they are an attribute to the subject. attribute of an object, they
= They give attribute to '
Object comple

to the subject.

= They don't have a ¢
Examples:

- Most students have found her reasonably helpful. (The complement is
“reasonably helpful"). In passive it becomes:

- She was found reasonably helpful. (The complement remained, but it
was a complement of the object in the first structure and became a
complement of the subject in the passive structure)

Note: |

g&l—e sources say that every phrase has a head wh'{ch is the central part of it
Around this head clusters a group of modifiers (pr.e-m_odlﬁers-and postﬁ‘odxﬂers). In
an adjective phrase, the head of the phrase is an adjective and it has modifiers.

i hrases.
iective phrases can be part of other larger phrase £
ggﬁple‘ 'll)'he blue fast train. (these two adjectives are two adjective phrases

with no modifiers).

; i . A P R PR TR S Sl K' HE SRS R This
@ Adverbials ' o I sition in a clause.
?}{cy gt Gatadle o occurfrmg “} ttﬁzrzdia;%isln ng.;letimes we can't put the
3 e type and form 0 sl :mes we can't put 1t 10
ability depcnds OSOS;tiotzpothcr than at the beginning. Other
adverbial 1n any

any position other than at the end.

Examples:

either the subject or the

: ; object depend; i
ments give attribute to the object. Su J e & o0 theif type,

bject complements give attribute

orresponding passive subject

Me

b
ook should have s
eb sosition in the sentence) i adnt “always")
hrases Of clauses
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 ExamSamples |
'r.I had 10 theoretical questions out of 50 qQuestions, Each question

t 'Semestc
1 maﬂ‘iS'wn.e,;t answer: |
pod 108 o\ categories are originated from:
f@rarﬂmf"t' grammar m_djt,o_ﬁﬂ_a r e
1 generathZ grammar d. perscriptive grammar
89" ptiv -gramma,
descrP
ntic features of synonyms are;
e cppoie b. completely different
ks . identi
: lllfyéiﬂ‘ib—' d. identical
logy is a branch of linguistics that is concerned with the study of:
] morph© 09 .

eaning of words, phrases, and sentences
a.the ::ructures and the components within a sentence
b. t:eway in which elements are ordered in a sentence
¢.the

Li/th’e‘b,asjﬂﬁ,ﬁﬂ@ul forms of a language

%ﬁ’-’-%he basic meaningful form of a language is the morpheme.
« The smallest unit that can be analyzed but has no meaning is the phoneme,

« "im" is a morpheme that has a meaning. It consists of two phonemes which
ae [i] and [m)]

« "red" is a morpheme that consists of three phonemes."

4 According to the prescriptive approach to grammar:

2. the structure of English sentences should be similar to that of Latin
sentences

b.English structures should be anal

¢ The rules of Latin are always appl
d. none of the above

yzed as they are produced by native speakers
icable to other languages

5 Aphrase is 3 syntactic unit characterized by:
2.the lack of subject-predicate structure

'fun_m‘-‘“i“g as a syntactic constituent in a sentence

Ch :
2Ving the subject-predicate feature

20tha and

6.The follow;

2. con ng falls within the scope of semantic analysis except:
Ceptual Meaning

n

© Semangic roles b. asso iative meani

Nﬁ{g-: d. semantic features
We g

Neggy, 10 that cong

" . : he asSOCiative
is €Plual meaning is what the society agrees upon. T
Personalizeq.

§

*Mmayy 023
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7. In the study of anton il X
; P ymy: "If Ais an ant ;
imply B." This sentence is applicable to: onymy of 8, the negative of A does no:

a. only gradable antonyms
b. only non-gradable antonyms
c. both gradable and non-gradable antonyms
d. neither gradable nor non-gradable anto—nym_;
= The marker is black. (The antonym of "black" is "white")
The marker is not black. (Is it necessarily white? Of course not)
This tree is not tall. (T his doesn't mean that it is short) ‘
8. The meaning of idioms:
a. is derived from how meaning of the words composing them
b. is metaphorical and reflects the life experience
community
c. can be guessed by combining the individual meaning of each word
d.it's different from the meaning of its words

and history of the speech

g Verbs in finite verb phrases:
a. have a tense
b. have subjects and/or objects
c. agree with the subjects and objects in person and number
d. all of the above
10. The functions of a noun phrase include being:
a. the object of 2 preposition
b. the complement of an adjective
c. the direct object of a verb
d.bothaand ¢
k% ¥

In the following sentences, the underlined phrase is:

a. an agent b. a theme c. an instrument d. a location

11. He cut the meat with a knife. Instrument

12. The stray dog seemed very furious. Theme

13. Great minds think alike Agent

14. | went to the library. Location

15. He sketched his idea with 2 piece of chock. Instrument

16. He stared into the void. Location
* k¥

In the following sentences, the underlined word is:

a. a goal b. a source c. an instrument d. an t:vq!’@”""“’r

k¥

In the following sentences, the underlined noun phrases aré functioning 2 e
a. indirect object of a verb b. complement of a subject
c. complement of the object d. the subject of a predicate

« Hardships made him a wise person. Complemen W
Sematics & Synatx 3.7+8 Last 12 AYDl@ 2023
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*hn

ing sentences,

the unde
w rlined
follo Prepositional phrases

m‘o"mg .s: o4d ook ok
do we distinguish the direct object from the indirect ob;
object?

are

stf“ct 1 rect always comes firs
st indirect object WY o
»

¢
E\?"“pI my mother a present.

' L(ga:’:other: indirect object
: k);resent‘- direct object
- You can always replace the indirect object with a prepositional phrase:
. |gavemy mother a gift.

v [gaved gift to my mother.
* kK

in the final question, there is a drawn tree diagram with numbers in some boxes.
Select the suitable labels for each number on the chart below, which represents the

ree diagram for the senetence:
The man in a lab coat talked about the fact that whales are mammals.

(A)NP (B) VP C (PP)

. .
Where is the subject here?

wman in the lab coat". So here
o


https://v3.camscanner.com/user/download

the subject:

S
A
NP vp
/\..
NP PP
P e,

At N P NP
| R | |
the man in alab coat

Now we come to the predicate. "Talked about the fact that"

|
VP
A
Vv PP
I i
talked Fl’ NP
|
about the fact that ...

Now we come to the last part which is a new sentence: "whales are mammals”

S
—
NP VP
| B e
N v NP
| | |
whales are mammals

dk

’ it e Tenses v
Tcnses are always about tlme When somethmg happened
_The simplest structure is 51mple present

g Samplepresent' : S b s R
< The simple present talks about somethmg that is always true 'in the past the
future, and now.
@ It talks about something that occurred regularly in the past and will continue to
occur regularly in the future.
@ The structure has two variations: with "be" and with another main verb.
- With "be": Subject, "be", complement
The verb to be is unique in English because it has four forms:
VO: be
Vl:is, am, are
V2: was, were
V3: been
* In simplc present, we use V1 (am, is, are)
- With a main verb: Subject VO complement
<-:- Simple past: ) :
@ We have also two variations: verb to be and main verb
- With be: was, were

- Sematics & Synatx 3.7+8 Last 14 - AYDI® 2023

CamScanner


https://v3.camscanner.com/user/download

1 : VZ - - - .
with @ main vcs?mcthing that happened at a certain point of time in the past and
“ sCS ’

’ S "
- I c.\l_‘“é‘l when that point 18

e knoV c:,?ai“ focus is not on the duration
ir

<ses something that used to occur regularly in the past but no longer
¢ REE t contlnuous. . : b P

¥ whenever W€ say continuous, We need-ing and verb to be

& WhC \

» We use v1 of the verb to be (is, am, are)

ething that is occurring now

r [tex rcsses som : . ;
: thing that 18 determined in the future

# 1t expresses SOMe
pxamples:

« ['m meeting you on Monday

. T'm not leaving this place

& Past continuous ; S RS o :

+ We go back a step back in time with the verb to be. So we use (wa:s, v.vere)_

@ It expresses something that started in the past, lasted for a certain time 1n the

past, and ended in the past. _ )
& We couple it with simple past to entail that something interrupted something
else.

Example:

» ] was walking when L hit my head.

+ Our focus here is on the fact that something took 2 duration of time in the past

& Presentperfect o il e R e e

« Form: S + (have, has) + V3

o It expresses something that happened in the near past but it's not important

when it happened exactly
@ The focus is not on when the action happened but on the effect of the action in

the present
@ t focuses on the duration of time from now back, but not exactly when it
happened. The most important thing is that the action happened and it has effects
now.
Example:
s Tve eaten this morning. (So I'm not hungry now)
@ W_e go a step back in time, so we use "had"
@ It is used to express that something happened further back in time
@ 1 don't care when exactly it happened
@ T.he only difference between present perfect and past perfect is that last perfect
doesn't include near past.
% Present perfect continuous
@ Form: (have, has) + been + -ing
@ It signifies that something hap i i
_ - pened in the past but has effects in the presen
and it continued for a duration of time. ; t
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% Past perfect continuous

@ Form: had + been + -ing

Example: 1 had been teaching English for 30 years. I no longer teach English but
I'm very experienced. We don't care when I started or when I stopped. My focus is on
the duration and on the effect that it has on the present.

Note: In the negation and questions whenever you don't have a helpmg verb, you

add do, does, or did.
Thank You

Wish you all the best
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